16. A polynomial is shown below.
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A. Factor the polynomial. %
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B. Explain why the polynomial is not the difference of squares.
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of squares.
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C. Use one of your factors from Part A to write a polynomial that is the difference | -
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Constructed Response
A. Add and simplify: (6x?—x +8)+ (3x—4)

TR

: @xl-vl_x' 5
Grtlx Y

B. Multlply and simplify: (x— Zl(sz + 3x—2). Show your work and write your answer in
descending order. =

U+ 315 -Lx
—gx- -6x +1
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C. Error Analysis: Describe and correct the error made In factoring the equation below.
1752 -28 = 7(25%-4)
x—2)(5x -

7(5x—2¢

What was incorrect? Why was it Incorrect? How do you correct it?
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Read the problem. Write your answer for each part.

4. An engineer Is designing a solar panel in the shape of a rectangle.
The length and width are described by monomials, as shown in
the diagram.
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A Write an expression In simplest terms for the area of the rectangle.
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Answer:

B Ifx= Zandy-lwhatlstheareaofmerectangle'?
Showallyourwork.
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Read the problem, Write your answer for each part.

5. The followlng expressions all use the same values for n, p, and ¢.
e 32. 3" simplifles to 39,

° %;- simplifies to 7°.
o (47 4" simpliftes to 49,

A What is the value of the exponent n/?
2+ 0 310

32 e
24n = 20
Answer: ‘g B :2;

B What Is the value of the exponent p?

\ €= e
Zlexe = 7 7 7 ©
%/ 3
Answer: \ ?)
C What Is the value of the exponent g7 g

G A+ § 4*4')

Answer: @ Y > kt\‘“ \3 = &) @9 |

D Explain how you found your answers,
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Read the problem. Write your answer for each part.

3. A manufacturer makes rectangular blankets in several styles and
sizes, The outllne of a popular blanket In size A is shown below.

I+

L 2x — 3 cm

ax + Tem

A Write a polynomlal expression, in simplified form, that
represents t w the blanket.
t w 41\@5
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B Write a polynomlal expresslon, in simplified form, that
represents th@o{ the blanket.
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C The same style blanket In size B has width 2x + 10 and
length 4x — 10,

Write a polynomial expression, in simplified form, that
expresses the difference In area of the blankets A and B.
Show all your work
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Read the problem. Write your answer for each part.

4. A physlclst needs to know the values of x for which the trinomial
below equals zero, Her first step Is to factor the trinomial.

X+ 10x + 24
A Factor the trinomial, ‘Zj_’
R
7
5 %

O

B Explaln how you found your answer to part A.

Fetess o# T8 ["l@j .k
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C The physlcist also needs to factor the trinomlal below.
X - 10x + 24

What Is the factored form of the trinomlal?

[%6) (X -4
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D The physicist must factor several trinomials that are all of the
form x> — mx + n, where m and n are whole numbers greater
than zero. She wonders if any of these trinomials factor as
(x + a)x + b), where @ > 0 and b < 0. Is that possible? Explaln

why or why not.
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Read the problem. Write your answer for each part.

5. A manufacturlng company uses the expressions below to
estlmate revenue and expenses based on the production
of n units.

Revenue: 20n® — 180
Expenses: 4n® + 36n + 72

The ratio of revenue to expenses Is glven by the rational

—

expression below, S
2 &
200 — 180~ ?-Oéﬂ "'C(S _ 2OL (2 BJ

Wt T 7244, +|8) ’/Lk(m(o)fﬁ«*ﬂ"))

A Factor the numerator and denominator of the rational

expression, and simplify if possible, Show your work, i ST (/] - \
L e
A S
n=IS oo
Answer: Ot6
20n* — 180

B The rational expression I +36n ¢ 72 \s not defined for any
values of i for which the denominator equals zero. Find the
values of n for which the denomlinator equals zero,

4 36t = 4 (n +6)(013)
Warel(nez) =
~ 8

C The company accountant says that the rational

expresslon 2+ 36472 will never have a zero denominator ats = O b= —8
n“ + 36n + 72 ~Co -6
because n, the number of units, is always a whole number. R ——

Explain why the accountant Is correct. NTtL=0 n=-3
o) B
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